APPENDIX C

Required vs. Total Workers’ Compensation
Fund Reserves
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Year Required Reserve | Total Reserve
1987 -$20,000,000
1988 -$15,000,000
1989 -$9,000,000
1990 -$8,000,000
1991 -$5,500,000
1992 -$2,000,000
1993 $350,000,000 $14,000,000
1994 $372,000,000 $35,000,000
1995 $383,000,000 $81,000,000
1996 $338,000,000 $129,000,000
1997 $358,000,000 $189,000,000
1998 $345,000,000 $248,000,000
1999 $382,000,000 $283,000,000
2000 $509,000,000 $321,000,000
2001 $546,636,000 $356,000,000
2002 $556,900,000 $396,192,348

Source: LSO analysis of WSCD data
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